)4 @ , Negative Exponents of 10 (Power of 10)

Name: Date: Score:
1079 = 376.8 x 1003 =
3x 10072 = 6x 100D =
105.5+ 1002 = 4x 1003 =
3x 1000 = 153.9+ 109 =
100% = 384.7 x 1004 =
447 + 1079 = 826.4 x 100 =
1009 = 124.4 x 102 =
7x100Y = 7% 100 =
1079 = 100D =
-2 x 100 = 7% 1007 =
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Negative Exponents of 10 (Power of 10)

Name: Date: Score:
107 = 0.001 376.8 x 107 = 0.3768
3% 1072 =0.03 6x 107" = 0.6
105.5+ 10 = 10550 4% 107 = 0.004
3x 1077 =03 153.9 + 107 = 153900
1072 = 0.01 384.7 x 107 = 0.03847
447 + 10C% = 4470000 826.4 x 107 = 0.08264
107 = 0.0001 124.4 x 10072 = 1.244
7% 107 = 0.0007 7% 107 = 0.007
107 = 0.0001 1077 =0.1
-2 x 107 = -0.002 7% 107 = 0.007
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